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There are as many balls numbered 1 to 3 in the bag.
These 6 balls are the populations, and the number is the variable X.
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Find the population distribution of X.
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Find the population mean m of X.
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Find the population variance o2 of X.
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A sample of size 2 is extracted from this population with replacement.
Find the probability distribution of this sample mean X.
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Find the variance V(X ) of the sample mean of X.
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Find the mean E(—) of the sample mean of X.
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There are as the bag contains balls 1 to 3. There is one each for 1 and 3
and two for 2.

These 4 balls are the populations and the number is the variable X.
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A bag contains balls numbered 0, 1, and 2. There is one each for 1 and 2, and two for 0.
These four balls are the population, and the number is the variable X.

(1) X 0 RS #i % kb &

Find the population distribution of X.
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Find the population mean m of X.
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Find the population variance o2 of X.
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A sample of size 2 is extracted from this population with replacement.
Find the probability distribution of this sample mean X.
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Find the mean E(—) of the sample mean of X.
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Find the variance V(X ) of the sample mean of X.
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A bag contains balls numbered 0, 1, and 2. There is two each for 1 and 2, and one for 0.
These four balls are the population, and the number is the variable X.
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A bag contains balls numbered 0, 1, and 2. There is two each for 0 and 1, and one for 2.

These four balls are the population, and the number is the variable X.

(1) X 0 RS #i % kb &

Find the population distribution of X.
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Find the population mean m of X.
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Find the population variance o2 of X.
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A sample of size 2 is extracted from this population with replacement.
Find the probability distribution of this sample mean X.
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Find the mean E(—) of the sample mean of X.
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Find the variance V(X ) of the sample mean of X.

§
VX)= 0% 52x 2y 9
X 0 25 +0.5 25 +7 0E +

R

4 / 4
5% 2x_*(_
7.5 e +2 e

25 5

HAED 5L A A9 4

HEE 45120, 1, 2@$ﬁ@£75>7\om\50 1.2 1% 1 {4
z E
Fo 0 4EASTVS, Z06HDE%

E LS Eh BhoZ5 kDO
RREMEL, &52X 8 XLET5,

A bag contains balls numbered 0, 1, and 2. There is one each for 1 and 2, and four for 0.
These four balls are the population, and the number is the variable X.
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(1) X 0 R #5 % kb &

Find the population distribution of X.
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A bag contains balls numbered 0, 1, and 2. There is one each for 0 and 2, and four for 1.
These six balls are the population, and the number is the variable X.
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Find the population mean m of X.
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Find the population variance o2 of X.
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A sample of size 2 is extracted from this population with replacement.
Find the probability distribution of this sample mean X.
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Find the mean E(—) of the sample mean of X.
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Find the variance V(X ) of the sample mean of X.
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When randomly sampling the following materials,

find the mean and standard deviation of the sample mean X.
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A sample of size 100 is extracted with replacement from a population
with a population mean of 20 and a population variance of 4.
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Find the following probability.
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When a sample of size 25 is randomly selected from a population with
a population mean of 50 and a population standard deviation of 20,
find the probability that the sample mean X is greater than 58.
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The average time for a boy in a high school to 50 m dush was 7.6 seconds, with a
standard deviation of 0.5 seconds. Let X be the average 50 m dash of 25 men selected
at random. Find the probability P (7.5 = X = 7.7).
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T x BA R Ok
- EBSE£ PO Z=u
u .00 .02 .04 .05 .06 .08
0.0 | 0.0000 | 0.0080 | 0.0160 | 0.0199 | 0.0239 | 0.0319
0.2 | 0.0793 | 0.0871 | 0.0948 | 0.0987 | 0.1026 | 0.1103
0.4 | 0.1554 | 0.1628 | 0.1700 | 0.1736 | 0.1772 | 0.1844
0.5 | 0.1915 | 0.1985 | 0.2054 | 0.2088 | 0.2123 | 0.2190
0.6 | 0.2257 | 0.2324 | 0.2389 | 0.2422 | 0.2454 | 0.2517
0.8 | 0.2881 | 0.2939 | 0.2995 | 0.3023 | 0.3051 | 0.3106
1.0 | 0.3413 | 0.3461 | 0.3508 | 0.3531 | 0.3554 | 0.3599
1.5 | 0.4332 | 0.4357 | 0.4382 | 0.4394 | 0.4406 | 0.4429
2.0 0.4772 | 0.4783 | 0.4793 | 0.4798 | 0.4750 | 0.4817
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When randomly sampling the following materials, B 15l /A D@D A @ 50 m E D :Pi‘/j 75) 8.6 *9\ <
— : _ find theim(ja:}and stan;iard (te:/iation of the sample mean X. F,f; 7&“’{% %75) 0.6 *9\ <5 - 7,:_0 ﬁ% 36 ]\ %
AN} I~ y 5k b Lo Eh Wby i Lo
BB BT H 80, R4S o BEMN S K X & 200 WIEAMI LEE 20 50m £OTHE X &
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DI K a2 o TS, +5Lx, %ﬁP(S.ﬁléXé&S)’i’ﬂ?&)io
VEIBEANDEA . ~ANEA
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A sample of size 200 is extracted with replacement from a population X’ — 9.6
with a population mean of 80 and a population variance of 8. Z = T L9 5k
a/ut“LE Eobg ERAEA ’ Yy
g i /’i/2 za<wut)ffztzo@l%.7b)%k%é »0 }_(:(S}.#@k & 2= .0/ . =
DI KA ot fh 7 5, . M’;é’é
X=¢b0v s, Z=—""7">"""=2
0.7
Ples<X<¢.6)=Pl—2=2<2)
=P(—2=2z2<0)+Po=z<2)
¢ nioo =2 P(0<Z<2) =2 x0.4772=0.9544
2. /k D % R ;k o X, Find the following probability. The average time for a girl in a high school to 50 m dush was 8.6 seconds, with a
PR FR ool ET standard devAiation of 0.6 sggonds. Let X/be tl}e average 50 m dash of 25 men selected
{@J% !::Pi_/j 60 .:1:35 @{ﬁ% 10 O £ % M FO j( % é at random. Find the probability P (8.4 = X = 8.8).
SR YY WHwH Lo I5BA~NVEA b AT ) 3 ~DEA
95 DfE AE M AT 5 L X, AT HE 5% mffw)ﬁ%@ 50 m EOFEN T4 B T
VEILwh~AS AL IZh
Vel i) N EH
X B 58 L0 ANS R DMkER KD X, PR 12 IR 2227 0.6 w Thol, HFolE
HEZMMB L72E 20 50m %@1@72 X &
/0 /Re]
BX) =60, 0(X)= Nl trrx, HEP13<X<75)EKkDL,
X
Z = 260 LT 5Lk
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X=5¢pr =, Z= 5‘?560 —7
X <58) =P(Z<—7)
=P(z=0)-Plo=z<))
=05 —0.3473=0.7587
When a sample of size 25 is randomly selected from a population with
a population mean of 60 and a population standard deviation of 25,
find the probability that the sample mean X is greater than 58.
bAEN A~ E A ) V/u:/é ELw 5k
i REE 70, li‘? i 7= 0@!:%.75“5?(% S
CxrdiEh LE<nbwirLeo DEIFEA~SNVEA
100 DIE Az EERMET 5L &, AR
B RS} HL
X768 LV /INEL RDMERERD L,
EO X BA K O
- EBSE PO Z=u
u .00 .02 .04 .05 .06 .08
0.0 | 0.0000 | 0.0080 | 0.0160 | 0.0199 | 0.0239 | 0.0319
0.2 | 0.0793 | 0.0871 | 0.0948 | 0.0987 | 0.1026 | 0.1103
0.4 | 0.1554 | 0.1628 | 0.1700 | 0.1736 | 0.1772 | 0.1844
0.5 | 0.1915 | 0.1985 | 0.2054 | 0.2088 | 0.2123 | 0.2190
0.6 | 0.2257 | 0.2324 | 0.2389 | 0.2422 | 0.2454 | 0.2517
0.8 | 0.2881 | 0.2939 | 0.2995 | 0.3023 | 0.3051 | 0.3106
1.0 | 0.3413 | 0.3461 | 0.3508 | 0.3531 | 0.3554 | 0.3599
1.5 | 0.4332 | 0.4357 | 0.4382 | 0.4394 | 0.4406 | 0.4429
2.0 | 0.4772 | 0.4783 | 0.4793 | 0.4798 | 0.4750 | 0.4817
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When randomly sampling the following materials, o
find the mean and standard deviation of the sample mean X.
A EY E 0 E A iza/ué/u ELwdEA
BIRE T 70, B4y 36 0 BAEF 2 5 KX X 400
trHiEh SXFAbw I Lo
DIE Kz oot B 5,
VEIBEANDEA . ~ANEA
EAFHXoFH EX) =70
VIIHIEA~EAL —  VEILOA~AS V36
BAIHAXORE R 2.X) = \/—_:0.3
400
A sample of size 400 is extracted with replacement from a population
with a population mean of 70 and a population variance of 36.
BAEDL I~ E A E 5 A S ELw %A
M R 100, B @%ﬁz 25 O FAEH 70 B K & & 100
[P I REYY SLF by )
DI ZIWE?’E JC tﬂﬁ‘éo
x n<Ho
2.&@%4%*@& Find the following probability.
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Bl RE R4 60, REAE MR 2= 6@%75“5?(% S
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36 O Az WIEAMMT 2L %, BATH
— WL k7 n< o bL
X5 620l Lin e o kR %R &,
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X=620 L %, Z:éz/;w:z
KX =62 =P(Z=2)
=P(z=0)-Plo= Z<2)
=05 —04772=0.0228
When a sample of size 36 is randomly selected from a population with
a population mean of 60 and a population standard deviation of 6,
find the probability that the sample mean X is greater than 62.
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e En Librd 5L A
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I<VhHyw I LD
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9 ~NVE A WL xo
Limbx, 95 kng E@#?i’]z’» 152 cm LA 1
S AR}
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o K@ ERSE N 753,007 )i & 5.
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7= S
0.9 I B
X=/520k 5, Z= %:4.25
X=/ssor s, 2=—12"083 5
0.8
P(750=X <755 ) =P(—7.256= Z<2.5)
= P(0<Z</.25)+P(0<Z<2.5)
=0.3944 +0.4936=0.8882
The average height of girls in a certain high school was 153 ¢cm, with a standard
deviation of 4 ecm. If 25 girls are randomly selected, find the probability that the
average height of the 25 girls is between 152 cm and 155 cm.
bAED LAbxd ~DE A oL)LWV
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0.0 | 0.0000 | 0.0080 | 0.0160 | 0.0199 | 0.0239 | 0.0319
0.5 | 0.1915 | 0.1985 | 0.2054 | 0.2088 | 0.2123 | 0.2190
1.0 | 0.3413 | 0.3461 | 0.3508 | 0.3531 | 0.3554 | 0.3599
1.2 | 0.3849 | 0.3888 | 0.3925 | 0.3944 | 0.3961 | 0.3997
1.5 | 0.4332 0.4357 | 0.4382 | 0.4394 | 0.4406 | 0.4429
2.0 0.4772 | 0.4783 | 0.4793 | 0.4798 | 0.4750 | 0.4817
2.5 | 0.4938 | 0.4941 | 0.4945 | 0.4946 | 0.4948 | 0.4950




